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#include <stdio.h> | ppmccl30@martini:~$ ./test
Input text : HELLO!
int main() { Input character :

char character: Character decis 10

char text[8]; ppmccl30@martini:~$

printf("Input text : ");
scanf("%s", text);

printf("Input character : ");
scanf("%c", &character);

printf("WnCharacter dec is %d¥n", character);
return O;
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#include <stdio.h> | ppmccl30@martini:~$ ./test
Input numbers : 12
[ ' Input character :

nt main
| no ! Character decis 10
ppmccl30@martini:~$

int num1, num?2;
char character;

printf("Input numbers : ");
scanf("%d %d", &num1, &num?2);

printf("Input character : ");
scanf("%c", &character);

printf("WnCharacter dec is %d¥n", character);
return O;




Math.h & rand(),srand()




e pow(double x, double y) :
e sqrt(double x): /[

ole exp(double x) :
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Math.h 2}o] B 2] ] A& 4 A

Degree= radian2 2 H L}

#include <stdio.h»
#include <math.h:

#include <stdio.h>
#include <math.h>

#define PI 3.141502 #define PI 3.141552

double toRadian(int x){

return x*PI/180.8; int main(void){

int x=8, y=8;
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for(y=15; y »= -15; y--){
for(x=8; =<68; x++){
if(floor(15*sin(x*PL/180.8*3*PL)) == y)
printf{"*"};
glse
printf{" ");
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int main{void){
int x=0, y-8;
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for(y=15; y »= -15; y--){
for{x=8; x<88; x++){
if(floor{15*sin{toRadian{x)*3*PI))
printf{"*"};
else
printf{" ");
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}
printf{"'n");
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printf("\n");
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rand() ¢} srand()
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- stdlib.h = ¥F=A] include 3l ©

#include <stdio.h>
#include <stdlib.h>

int main(void)

{
int rand_num = rand(};
int rand_10 = rand_num % 10;
printf(“%dWn", rand_num);
printf("%d¥Wn", rand_10);
return O;

| ppmccl30@martini:~$ ./rand

1804289383
3




rand() ¢} srand()
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#include <stdio.h> ppmccl30@martini:~$ ./rand
#include <stdlib.h> 1804289383

3

int main(void) ppmccl30@martini:~$ -/rand

{ 1804289383

!

ppmccl30@martini:~$ ./rand

1804289383

int rand_num = rand();
int rand_10 = rand_num % 10;
printf(“%d¥#n”, rand_num); 3

printf("%de”, rand_10); ppmccl30@martini:~$ ./rand
return 0; 1804289383
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ppmccl30@martini:~$




rand() ¢} srand()
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srand()E AF&-31H71 #lsli A= = include 3 oFgHt.

#include <stdio.h>
#include <stdlib.h>

int main(void)

{

int rand_num = rand();

int rand_10 = rand_num % 10;
printf(“%dW#n", rand_num );
printf(“%dWn”, rand_10);
return O;

ppmccl30@martini:~$ ./rand
1804289383

3

ppmccl30@martini:~$ -/rand
551395551

1

ppmccl30@martini:~$ -/rand
1926466052

2

ppmccl30@martini:~$ ./rand
246832303

3

ppmccl30@martini:~$







ppmccl30@martini:~$ ./ex5-1
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: ppmccl30@martini:~$ ./ex5-2

Game start!

Choose rock(O), scissor(X), paper(#)
@)

user: rock, computer: scissor

You lose

Choose rock(O), scissor(X), paper(#)
#

user: paper, computer: paper

You lose

Choose rock(0O), scissor(X), paper(#)
#

user: paper, computer: rock

You win

ppmccl30@martini:~$
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nO| FO{ZICE (0 <= n <= 10000)
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./hw3 < input.txt
The closest point from (10.10, 10.20) is (10.10, 10.10) and distance between them is 0.10
M

input.txt
1 718.1 18.2
2 16 18
18.1 18.1




